LY zelad] 2850 (1o cilad) 120 Jraxi o

almahah).com/ae

Q2

siiga
L) a0,

Jod) 2o bl Mg b ol (sl Geadl Joe sl il

I Jill &5 slal; & plall pie (S Cadll e 1LY zaliall & zeliall g8e

el e pladl ae (il Canall alge Ll

lol &l dall) dy | dall] dro M) dyy il

e Jod Jansd) g borial 18 dale dnxl e 1
1) il )] sl )

Silly Jolait] jglaia (ya Jlgall 3

sarie L) alin) 4

sl el 5



https://almanahj.com/ae/pages/search?teacher_name= مصطفى أسامة علام
https://almanahj.com/ae/12math1
https://almanahj.com/ae/12math
https://almanahj.com/ae/12
https://almanahj.com/ae
https://almanahj.com
https://www.facebook.com/groups/grade12uae
https://www.facebook.com/grade12uae
http://bit.ly/3cHhI5R
https://t.me/uae12grade_bot
https://bit.ly/2PxutsU
https://bit.ly/31lsaeS
https://bit.ly/3rqFfOG
https://bit.ly/39dNAz9
https://almanahj.com/ae/id=1759
https://almanahj.com/ae/id=2812
https://almanahj.com/ae/id=5546
https://almanahj.com/ae/id=5718
https://almanahj.com/ae/id=5719
http://www.tcpdf.org

e dalul Ahaa [ gugtal) Jos https://t.me/mathbook12GEN https://t.me/alllaaam82

050-2509447 e 12 sl ) pé - 5830 T
: pe) Sl g cla Al 4-2 alad) jde AU Jas a3,
oSall Gall g sl il ) sl Ul il i ST

5 rov o 60 1a a3l o Jilose (a3l Sl il 9 \ splatl) @) o

elasall saalild) ) 2
5,50 auSls bl lgald sudll

Lao¥! Az e Lganl y (19S5 Leutic Standard Position (wla!! gl B dgl 31 eSS
silly a3 pgallss alaszuls = s
160 e i e o | [ s5mall Gy gl 31 e Lt Tmitial Side 1l s nasg . 3as ¥ G5iceal] 3

@GR 0! Wif»: .Terminal Side slgii¥! gl 2,9 310 )13 5211 pLiall oy
gl (pa ey Y Rl Ao 3 ddee B DMS ld Sy (2009 4335 (2> ;3) DMS dine 3 & pdie 2350 bad JS 1S
Write each decimal degree measure in DMé form and each DMS measure in decimal7d;gree for;n to the nearest thousandth.
D M S

56.735° et S A o
° _® 60/ 7; /l K ;J'\/\(“S'\./L/‘
.56+ 07235 (62) \ o 5.7, wyly g
© 7 ° ’ “ >3 5 \T:
_56 + Y4 = (54 4y’ 4 @—’A
-
: —\=
=56, ug”y ot (62) =
=
32° 5’28”
_32° o7, ' 2% \C o o B N et
-— = 4 7% ‘o/ T ) 6’—,’)( so, A)
TS S G- @ —~B— o) —A28) =)
- N T v
9oo

-@ —’r@ ..»‘Sobl-—»&&@D\
[22 090 | 1 e b5

213.875’ o
-213%° .?O‘st"( f"/) \= 213 4+ 52 + 30

’9
- 2’30 + 52.':)/ = (21 ¥ ':)2_/ 20’/ \

213, 5274 p.57 [ 6o
N ’,/

89° 56" 7"
© Y o Z 7/ o
289" s (Y, 7/ 1Y )
<o 7 %o 7 N {o/
g9° 4 [lu \° i TN

935




@%LM‘MIQ{)M\JAQ

050-2509447

(/E”')| o

c N 10

120°

https://t.me/mathbook12GEN

bl Jly dx sl Gald G Jagd)

(Sl T aeliaeS (sl I Sl )l (o wld US Joe>
Write each degree measure in radians as a multiple of 7 and each radian measure in degrees.

https://t.me/alllaaam82

—45°
% T x ~
B .
(L0 (§o -ys 3o
20 TC 449 W . )
3 x = I oo‘ - Z-K = - L20 —( T
loG ' 3 , O <
_3m 5T
2 6
5w
e . < .=
x 8o x %o
. -*/ —S )
\Qo (’5-——> o 6 _ , - °]
= x = . = [ - 2730) = * = e - (150
w |\ R
210° —60°
x 0 ¥ L
2(0 !go —6o \Qo
T —6o ™ -
41t T
3 _ 6 _
i S . T
X 30 x %o
Vi L{-;IT -ﬁ
\80( 3 ° ‘80("6/) °
— — - [ayo = 2 = = | - 30
;F\,/ ————~ 1 | —




@%LM‘MIQ{)M\JAQ
050-2509447

https://t.me/mathbook12GEN

Lo sgo¥) gld B &S ,2dsdl Llg3d) slonal

https://t.me/alllaaam82

Lol cA;lgI'¥| cl.a'a o S e ddbo olyg dunga a9l ) g ..\:,,J.BLI:.-.U EEEIRI] o slgiidy cla'a é as;Lal Ligyh o >
Identify all angles that are coterminal with the given angle. Then find and draw one positive and one negative angle

coterminal with the given angle.

450 us

. a ). m_;’ﬁ_ . 21 ()
7 — ‘E
= o 6/
N
= [ 5 )

S R S
3 3
.3 Tﬂ
- - T wo|. 2—
2 >
—30° 3T 2

'20 —"' 360|/l s A 20,8

E L 2T (w)
+

aoptl, (nd] = 30 1 360 (1) = (330';

Znyﬁ;;;','(n :1; = 3T ,2w ()
] L

T g
2T ,Hf_ﬂ’

=]

[ nww |
L« /

- 3w e l)
- , N = 2w (-
Q(:JL/ qj)’/ n =-l ‘& l_! + (
_ 3w _ 8T
- T 4
[-5T




e Al Ahaaa [ Gual) Jas https://t.me/mathbook12GEN
050-2509447

https://t.me/alllaaam82
Sl ) Sllatal o e 38
il Jslo slawl s-rb

bt 30 €3 B () D ) Caealy L3S el Dl e S laaed) SLulid) alasiul §505 S o spaned] uaad! Jodo o
Find the length of the intercepted arc in each circle with the given central angle measure and radius. Round to the nearest tenth.
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